Spiel 1 Spiel2  Gesamt "

Spiel 01 15:43 |A 01 HARUCKSTEINER Thomas 56 + 59 = 115

A 09 SPINDELBERGER Gerhard 55 + 48 = 103] 1
Spiel 02 15:52 |A 02 HINTERREITER Josef 57 + 67 = 124 1 | 1

A 08 JURKOWITSCH Thomas 54 + 67 = 121 4 | 1
Spiel 03 16:01 |A 03 KOCK Ernst 47 + 52 = 99

A 07 HAHN Ernst 63 + 60 = 123 3 | 1
Spiel 04 16:09 |A 04 TEMPER Anton 51 + 63 = 114 1 | 1

A 06 TEMPER Manfred 68 + 66 = 134 1 | 1
Spiel 05 16:18 |A 09 SPINDELBERGER Gerhard 46 + 63 = 109| 2

A 05 HAHN Manfred 56 + 61 = 117
Spiel 06 16:26 [A 01 HARUCKSTEINER Thomas 64 + 53 = 17 1 | 1

A 02 HINTERREITER Josef 52 + 58 = 110] 1
Spiel 07 16:34 |A 08 JURKOWITSCH Thomas 54 + 59 = 113 3 | 1

A 03 KOCK Ernst 52 4+ 47 = 99| 1
Spiel 08 16:42 |A 07 HAHN Ernst 67 + 50 = 117| 3

A 04 TEMPER Anton 55 + 60 = 115| 1
Spiel 09 16:51 (A 05 HAHN Manfred 59 + 52 = 111 2 | 4

A 06 TEMPER Manfred 50 + 66 = 116 2
Spiel 10 17:00 |A 02 HINTERREITER Josef 56 + 49 = 105

A 09 SPINDELBERGER Gerhard 46 + 65 = 111 3 | 1
Spiel 11 17:11 |A 03 KOCK Ernst 49 + 42 = 91

A 01 HARUCKSTEINER Thomas 50 + 56 = 106
Spiel 12 17:18 |A 04 TEMPER Anton 65 + 52 = 117 4

A 08 JURKOWITSCH Thomas 48 + 54 = 102| 1
Spiel 13 17:27 |A 07 HAHN Ernst 64 + 56 = 120| 3

A 05 HAHN Manfred 5 + 64 = 119| 1
Spiel 14 17:36 [A 09 SPINDELBERGER Gerhard 61 + 58 = 119 2 | 2

A 06 TEMPER Manfred 57 + 53 = 110 2
Spiel 15 17:45 |A 02 HINTERREITER Josef 5 + 61 = 116] 1

A 03 KOCK Ernst 66 + 55 = 121 3
Spiel 16 17:55 |A 01 HARUCKSTEINER Thomas 46 + 56 = 102

A 04 TEMPER Anton 55 + 67 = 122] 3 | 1




Spiel 1 Spiel2  Gesamt "

Spiel 17 18:03 (A 05 HAHN Manfred 53 + 53 = 106

A 08 JURKOWITSCH Thomas 52 + 51 = 103 2 | 1
Spiel 18 18:11 |A 06 TEMPER Manfred 61 + 57 = 118

A 07 HAHN Ernst 62 + 55 = 117| 3
Spiel 19 18:22 |A 03 KOCK Ernst 5 + 56 = SHERE

A 09 SPINDELBERGER Gerhard 53 + 56 = 109 2
Spiel 20 18:31 |A 04 TEMPER Anton 56 + 53 = 109| 1

A 02 HINTERREITER Josef 60 + 57 = 117] 1 | 1
Spiel 21 18:40 |A 01 HARUCKSTEINER Thomas 47 + B3 = 110 1 | 1

A 05 HAHN Manfred 58 + 63 = 121| 3
Spiel 22 18:48 (A 08 JURKOWITSCH Thomas 49 + 52 = 101 2

A 06 TEMPER Manfred 54 + 60 = 114 1
Spiel 23 18:56 |A 09 SPINDELBERGER Gerhard 4 4+ 42 = 86( 1

A 07 HAHN Ernst 66 + 56 = 122 2 | 2
Spiel 24 19:05 |A 03 KOCK Ernst 5 + 61 = 116| 3

A 04 TEMPER Anton 55 + 41 = 96| 1
Spiel 25 19:14 (A 05 HAHN Manfred 61 + 56 = 117| 3

A 02 HINTERREITER Josef 71 + 57 = 128 3 | 2
Spiel 26 19:23 |A 06 TEMPER Manfred 59 + 67 = 126 4 | 1

A 01 HARUCKSTEINER Thomas 58 + 64 = 122| 4
Spiel 27 19:31 |A 07 HAHN Ernst 57 + 54 = 111 3

A 08 JURKOWITSCH Thomas 52 + 52 = 104 1 | 1
Spiel 28 19:42 |A 04 TEMPER Anton 64 + 57 = 121 2

A 09 SPINDELBERGER Gerhard 46 + 50 = 96 1
Spiel 29 19:53 |A 03 KOCK Ernst 58 + 47 = 105| 1

A 05 HAHN Manfred 57 + 54 = 111 1
Spiel 30 20:01 |A 02 HINTERREITER Josef 50 + 48 = 98 2 [ 1

A 06 TEMPER Manfred 53 + 65 = 118| 3
Spiel 31 20:09 |A 01 HARUCKSTEINER Thomas 58 + 67 = 125 4

A 07 HAHN Ernst 66 + 67 = 133| 2
Spiel 32 20:18 |A 09 SPINDELBERGER Gerhard 48 + 54 = 102 1 | 1

A 08 JURKOWITSCH Thomas 52 + 63 = 115) 1 | 1




Spiel 1 Spiel2  Gesamt "

Spiel 33 20:26 |A 05 HAHN Manfred 62 + 65 = 127 2 | 2
A 04 TEMPER Anton 58 + 57 = 115 1
Spiel 34 20:35 |A 06 TEMPER Manfred 62 + 68 = 130 2 | 1
A 03 KOCK Ernst 58 + 52 = 110[ 1 | 1
Spiel 35 20:45 |A 07 HAHN Ernst 68 + 56 = 124 3 | 1
A 02 HINTERREITER Josef 56 + 46 = 102| 1
Spiel 36 20:55 |A 08 JURKOWITSCH Thomas 43 + 53 = 96| 1
A 01 HARUCKSTEINER Thomas 62 + 48 = 110




